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QUESTION 1

In the Primary Storage Pool definition, autocopy=migrate is defined in FILEPOOL2 and TAPEPOOL. What are two
consequences if the target (next) storage pool in a hierarchy (FILEPOOL2) cannot contain the data being migrated, and
it is necessary to overflow to its next storage pool (TAPEPOOL)? 

A. Simultaneous write is disabled. 

B. TAPEPOOL inherits the copy pool list for FILEPOOL2. 

C. The server uses the inheritance model to create the copies. 

D. COPYPOOL2 is used because it is defined to TAPEPOOL. 

E. COPYPOOLI1 and COPYPOOL2 is used because the definitions of FILEPOOL2 and TAPEPOOL are inherited. 

Correct Answer: D 

 

QUESTION 2

What are two valid include statements? 

A. include.* 

B. include.options 

C. include.encrypt 

D. include.collocation 

E. include.compression 
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Correct Answer: CE 

 

QUESTION 3

When switching from schedule mode polling to server-initiated sessions which statement is true when contacting the
client? 

A. The next backup will be a full backup. 

B. . The server will use SSL to access the client. 

C. The server will use information from a register node. 

D. The server will prompt for information from the client. 

Correct Answer: C 

 

QUESTION 4

Which file is required when performing disaster recovery of an IBM Tivoli Storage Manager V7.1 server? 

A. dsmserv.sys 

B. volume history 

C. recovery instructions 

D. database system log 

Correct Answer: B 

 

QUESTION 5

Which statement is true regarding a vStorage Backup Server? 

A. It only supports backup to disk. 

B. It supports only backup over LAN. 

C. It can be a virtual or a physical machine. 

D. It allows virtual machine full backups and incremental file level backups. 

Correct Answer: C 
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